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Zeros in the Quotient

539 + 5=
Divide the hundreds. Bring down the tens. Bring down the ones.
1 Multiply. Divide the tens. Divide the ones.
5)539 1X5=5 10 Multiply. 107 R4 Multiply.
-5 Subtract. 5)539 0X5=0 5)539 7 X5=235
) 5-5=0 | -5 Subtract. -5l Subtract.
Compare. 03 3-0=3 03 39-35=4
0<5 -0 Compare. —ol  Compare.
3 3<5 T 4<5
39 Write the
—35 .
—_— remainder.
4
Divide. Check your answers.
1. 7)744 2. 2)615 3. 3)318 4. 8)859
5. 4)813 6. 7)564 7. 2)321 8. 6)624
9. 3)920 10. 2)410 11. 5)548 12. 4)835
13. 6)654 14. 8)723 15. 7)745 16. 3)307

Copyright © Houghton Mifflin Company. All rights reserved.

Use with text pages 238-239.





[image: image2.png]Name Date

Zeros in the Quotient

Solve.

1. The fourth-grade class is taking a trip Show your work.
to the aquarium. There are 240 people
going on the trip and they are taking 4
buses. How many people are on each
bus?

2. For the dolphin show, 612 people sat
in each section. If there are 6 rows in
each section, how many people sat in
each row?

3. Mrs. Garrett purchased 3 photos at the
aquarium. She paid a total of $6.15.
How much did each photo cost?

4. Mark displayed 850 postcards evenly
on 8 racks. He placed the leftover
cards on the counter. How many cards
are on each rack and how many are on
the counter?

5. Reasoning Mr. Laraket bought 6 pencils for $5.28. Without
dividing, can you tell if each pencil cost more or less than
$1.00? Explain your answer.
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